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�5( :ا������ ا�ول �� ( 

  :$'�� &� %$� �#� رب أ��ة ��� �رة ا	�����ء ا	��� ا	����� 	�����ك ا	��
	� وا	���� �
  

 ا	��ق  ا	�	'� ا	*�	�  ا	�	'� ا	���(
(kWh)  ,�'-	ا 

(kWh)  
 ا	-'�,  ��ر%.ا	

(kWh)  
  ��ر%.ا	

200  7120  01/10/2008 7320  31/10/2008  

  
 �'3� 
  ا	�� �ة

   . ?��أآ����ل=�>� ا	��
ل  ا	����$�,  (E) ���, ا	:�9, ا	�����8',– أو�6 ��	�'$�واط  .1
  .C = 2,5 Wh/trه�  ���E, ا	�Dاد �$�� أن 	�Dاد ا	�����8� ا	��
	� ا ��د دورات �9ص �Aد .2

ل �$�� أن ا	-�رة ا	�����8', ا	-3�%, ا	�*�دة  G�Aأ  .3��$	<�$#H �8�����  وا	�� �JK&  15A�ط �$I ا	

 .H�220V ه�  ا	����ح
=�ل ا���S	O&  R �2008 أآ�����P 	 ا����ك ا	:�G�AO ,9 9'�, ا	�� �رة ا	�اG6 أداؤه� � أ. 4  

 :	$�D$�&�ت ا	�اردة >� ا	��ول ا	��	� 
     

  ���,-O�E ا	�'$�واط
   ا	P:� اUول>�

  ���,-O�E ا	�'$�واط
�<�V�W	ا �:P	ا   

  Y'�6 ا	���م9'�,
,'J%�K	ا  

0,79 dh  0,85 dh  66,50 dh  

� !�"� :  �:P	ة ا�'D�  أ�J 
ا	V�W� آ$��  ��وز ا����Zك 

100 kWh 
 

�����ء ا��9ح ��D ا	. 5$	 �	
  .��ا�'� ا	����, 	$�-[ &O ا����Zك ا	��
  
  #�
�7( :ا������ ا�$��(  

 -'Eوف و�A �'J��	, ��Aأ ��Dة ������  ، ا���ة 9�J�&  δ40 C =  .ه��P% ���� �D6 �'6 و	P� *�وف	ا  
 �D� I$� ,��D	ا cm51, ء�P	�� ��	 
&�V ��	*�وف ا	ا O& ABل  ذ�:	5ات ا mm،   H�'رة  >� �و�b    

�� (  ا	���Jة #�رةP	ا �dV�3*, ا	*-'-� >� ا	ا e$�	�� �W��	2/2ا.(  
  

  
  
  
  
  



ء: ا��
دة �

ء وا�(�*

/� وا.-ة: ا��-ة ا�*�,
�  ا�+�   0�
 1: ا���

  ا���5
ن ا��3!ي ا��!.-
0 38
دة ا��"7 ا6/-ادي 
,�  


ص �
�.�ار(;(  

��دورة ,� 2009  

  ا��!@!ع 

1  
  
2  

A"� 
�
� ا��,

www.Achamel.info                                           Examens  pratiques en ligne                                                                       



 
 

  
  
  

  
  
  
  
  

  
  

  
  

  ن1,5
  

  ن 2
 

  ن1
  ن1,5

  ن1
  
 
 
  
  ن1
  ن1
  ن1
 
 
 
 

 ن1,5
 
  ن1
  ن1

  ن1,5
  
  
  
  
  
  
  

     
  

             ?�? ,E                                                B                
  

                                                           O       A                   
          

  
  
  

��Jة f 'اG�A ا	���>, ا	bJر%,  .1�$	 .  
2.  eE ور9,  *�%�ك I$� ��P	ا �-Vه���'�أ iPVأ  'B'A  ء�P	رة ا�# AB,:ا��*�3 �$'�� ��	ا   

 . ا	���Jة
 . ؟ �$� 6�ا��P(E)R?, ا	 �$B'A  I'ه� %��O  أن  ���ن ا	3�رة  .3
 .�A'B'Aد &�Yl  وk�ل ا	3�رة   .4
5. O'� ة�J��J'� ا	� . 

� 8 (:"درا�� .�آ� �B� "-�D ا�$
�����ا��� (  
  

    ��D��%O'�%از��& O'�'رأ� O'��  .	$��-� �'Jk O-�ت ��D ا	��J%�ت ا	�D3& ،,%�3D =�ر6� %�
	( >�ق �
�D3�	آ, ا�A G9رض  �اUا n:� I$� ,�9وا ,�k�< oVآ� ���'� ،H$=آ�ن &*�� وا��9 ��ا ،�D3�	آ, ا�A ء��Eأ. 

1.  Rا��؟ �$� 6,�k�<و ��*& O& ��	 ,J��	�� ن��  .ه� ا	��A �< �D3	�A ,آ, أو �
 .�Aد #��A qآ, ا	��� �D3	�� ,J	��n:�� pJ �& �D6�& e اUرض  .2
  .&���ر�, ، &��d��& ، ,rk�J,: أ �e ا	��ول ������Dل ا	�$��ت ا	��	',  .3
 

   �q9 ا	��D3  اV:�ق ا	�A��  �D3$,ا	
      �Aآ,

 
4 .  ,<��& �D3�	ا Y:925m ان�E Yل أر��= (4s) .ء أ��Eأ �D3�$	 ,:����	, ا���	ا G�Aل�-�VZا اsه. 
5 .Yا��	:��( ا	ا ��� �D3�	ا q9� . 

  . وه� واq9 دا=� ا	�I$� ,-J:�D3 &*��� أ�6د ا	-�ى ا	-5.1
5.2-I	ى إ�-	ا vsه q�#  ى�ى  و  دا=$', 9�رو�,  9��	, ا�����	ر ا�J���� ,'6ر�=}��*& ، �D3�	ا{.  

ات وزن ا	�����, ا	��رو�, -5.3'�& pإ� }��*& ، �D3�	ا{. 

�:DV :       - �D3�	آ�$, ا :  M = 1728 kg     
   m = 72 kg          : آ�$, &*�� -                
                - ,	�-W	ة ا�? :     g = 10 N.kg-1   

  ��Vــــــــــــــ                                                                                    ا  I  
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  اUول
5p-V  
  
  
  

.1 
 

.2 
 

.3 
 
 

.4 
5.  

  

,�    E= 200kWh: 	�%�� : ا	:�9, ا	�����8', ا	����$
  

E=n.C،  �اد ه�D	د دورات �9ص ا��   n = 8.104   دورة  
 

 ا	-�رة ا	�����8', ا	-3�ى 
 P = U.I  . +  ,�'-	ا P = 220 . 15 = 3,3 KW     

  
 vأداؤ G6ا�	ا O�W	ا  : 

P= (100.0,85)+(100.0,79)+66,50 = 230,50 dh  
�6
ة Uل ا��Dذا��,�'Dl ات �9رة-......    
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�V�W	ا  
7p-V  
  

1  
2.  
3.  
4. 
5.  

�'JD�	-+ ا	2,5=  '�,اcm' f  
  ا}�PVء ا	�����

Z,,'وه� ��VU .  
OA’ = - 3,75 cm،         A’B’ = 1,25 cm 

�J'� ا	3�رة  :   5,2
'' ==

AB

BAγ 

1,5  
  ن2
 ن1

  ن1,5
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}	�W	ا  
8p-V  
  
  
  
  

1.  
2.  
3.  

  
  
  
4.  

5.1-  
  
5.2-  
5.3-  

��*�	 ,J��	�� ن��� ,�k��	 ,J��	�� ,آ�Aو   
   &��-'�',)A,إزا (�Aآ,

,$A�&   ق�~~~~~~~~:Vا
�D3�	ا  

 q~~~~~~~~~~9� 
�D3�	ا  

  &�rk�J,  &���ر�,  �Aآ,
  

 �'JD�	ا+ V = 25/4 = 6,25 m.s-1   

 HVوز 
→
P�'E� و  n:� �D3�	ا 

→
R.  

→
P :  ،  ,'6ر�=

→
R :,'$=دا  

  �P   :P = 18 103 Nة  ا	+&�'
ات �Eث 
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